Ratio to CDF

{(1/Nevents) d I\Ich’/dr] , Ao}

=
IN

N
N

N

=
e¢)

=
o

=
N

=

0.8

0.6

0.4

0.2

1960 GeV ppbar
L L B B I

J

nderlying Event

~ L L B NN B B B T H
— d —
— <N,> Vs p'Tea (b, > 0.5 GeV, h| < 0.8) =
—  m CDF s
—  --8-- Pythia 6.428 391 _|
[ --<-- Pythia 6.428 393 7]
[ --e-- Pythia 6.428 394 N
[ --¥-- Pythia 6.428 395 e
- | ]
- - /.jip —
- ? ISESNTS -
— iiiii 48 —
— A .
— B -
L u _
AP RO RO NP ANNPUR RO RN NPT SO AU SRR NEPUT RO NP AN R R MR R B
— 1 1 1 L | I I I I [ 1 1 1 1 [ 1 1 1 1 |:
- : =
- . 7
- = /:-:i?:’:-: t_ .— ------- ? i
| r1 E :‘E_E%.ﬁ:‘é&:é:—:__ ------- o * ]

. _{}: 5

......... N S RS

0 S 10 15 20

(P [GeV]}

Rivet 3.1.10, = 3.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


